A2 REO R ERER—E

T23%12 858 8F

AE BIEHRER[ 1 Sv/h] Bl BIEFER[ 1 Sv/h]
o = BIEXR =x =x =x "E Hh AIE R R =x =x =x e

100cm 50cm 5cm 100cm 50cm 5cm

1 |E&HBORET 0.13 0.16 1.07 21 |[AEEAED 0.09 0.10 0.10

2 |BENEDUVSLT 0.11 0.13 0.27 22 |R&EAOAIE 0.10 0.11 0.12

3 |5 ERED 0.09 0.09 0.08 23 |TEiE 0.08 0.07 0.08

4 |HENZQOWHET 0.09 0.11 0.33 24 |#RBEHR 0.09 0.09 0.11

5 |BEAED 0.10 0.10 0.09 25 |1f% ZEM=E 0.04 0.05 0.06

6 |5 EEED 0.10 0.10 0.08 26 |4fg 2E=E 0.05 0.05 0.06

b =
7 |BERER 0.08 0.10 0.15 g7 |BLEREE 0.08 0.09 0.19
AT
8 |5 EfES 0.06 0.05 0.05 28 |BLEdaHEKE 0.09 0.20 1.10
T— VB NE BLEREE

9 HEKE 0.04 0.05 0.05 29 TN TF 0.09 0.10 0.13

10 [BE/NEQUVESLT 0.08 0.11 0.26 30 |BLEEHEKE 0.07 0.11 0.25

1 |[RERER 0.10 0.14 0.17 31

12 605 0.07 0.06 0.07 32

13 |[ARERIED 0.09 0.10 0.08 33

14 |ABEAIEQ 0.10 0.13 0.15 34

15 |[AFERIER 0.07 0.09 0.08 35

16 [5\EEED 0.11 0.11 0.09 36

17 |28EE 0.09 0.10 0.12 37

18 |EFHIZQUSLT 0.12 0.16 0.16 38

19 [ABEERET 0.08 0.08 0.09 39

20 |ABERET 0.07 0.12 0.24 40
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